f'mapaBnuyeckune GUTUHIU CoeanHUTENU C HapYy>XHOM pe3bbon

LUTyuep c HapyXXHo pe3b6oit (BSPT KoHUYecKas/MeTpuyecKkas KOHU4YecKas )

DLM-R/M - ‘

DLM-04LL-0TR.FLD.RU | DLM-04LL-M8K.FLD.RU 4 10| 9 [ 21|17 |10 M8x1KoHuY 8 | 1/8 | 10 | 100 100 63
DLM-06LL-01R.FLD.RU | DLM-06LL-M10K.FLD.RU 6 121 9 [ 21|17 | 95| M10x1 KoHuy 8 | 1/8 | 10 | 100 100 63
LL DLM-08LL-01R.FLD.RU | DLM-08LL-M10K.FLD.RU 8 14 112 | 23 | 20 |[11.5| M10%1T KoHuy 8 |1/8 | 10 | 100 100 63
DLM-10LL-02R.FLD.RU 10 17 | 14 | 24 | 23 |12.5 1/4 | 14 | 100
DLM-12LL-02R.FLD.RU 12 19 |17 | 25| 23 |13.0 1/4 | 14 | 100
DLM-06L-01R.FLD.RU DLM-06L-M10K.FLD.RU 6 14 | 12 | 27 | 20 |12.0| M10x1.5KoHny | 8 | 1/8 | 10 | 315 315 200
DLM-08L-02R.FLD.RU DLM-08L-M12K.FLD.RU 8 17 | 12 | 29 | 26 [14.0| M12x1.5Konny | 12 | 1/4 | 14 | 315 315 200
L DLM-10L-02R.FLD.RU DLM-10L-M14K.FLD.RU 10 19 [ 14 [ 30 | 27 |15.0| M14x1.5KoHuny | 12 | 1/4 | 14 | 315 315 200
DLM-12L-03R.FLD.RU DLM-12L-M16K.FLD.RU 12 22|17 | 32 | 28 |170| M16x1.5KoHny | 14 | 3/8 | 15 | 315 315 200
DLM-15L-04R FLD.RU DLM-15L-M18K.FLD.RU 15 27 | 19 | 36 | 34 |21.0| M18x1.5KoHny | 14 | 1/2 | 19 | 315 3 200
DLM-18L-04R.FLD.RU DLM-18L-M22K.FLD.RU 18 32 [ 24 | 40 | 36 [23.5] M22x1.5KoHuy | 17 | 1/2 | 19 | 315 315 200
DLM-06S-02R.FLD.RU | DLM-06S-M12K.FLD.RU 6 17 | 12 | 31 | 26 [16.0| M12x1.5KoHuy | 12 | 1/4 | 14 | 400 | 400 250
DLM-08S-02R.FLD.RU DLM-08S-M14K.FLD.RU 8 19 | 14 | 32| 27 |17.0 | M14x1.5Konny | 12 | 1/4 | 14 | 400 | 400 250
s DLM-10S-03R.FLD.RU DLM-10S-M16K.FLD.RU 10 22 | 17 | 34 | 28 [17.5| M16x1.5KoHmy | 12 | 3/8 | 15 | 400 | 400 250
DLM-12S-03R.FLD.RU DLM-12S-M18K.FLD.RU 12 24 | 17 | 38 | 28 [21.5| M18x1.5Konny | 12 | 3/8 | 15 | 400 | 400 250
DLM-14S-04R.FLD.RU DLM-14S-M20K.FLD.RU 14 27 | 19 | 40 | 32 |22.0| M20x1.5Konny | 14 | 1/2 | 19 | 400 | 400
DLM-16S-04R.FLD.RU DLM-16S-M22K.FLD.RU 16 30 | 24 | 43| 32 |24.5] M22x1.5KoHuy | 17 | 1/2 | 19 | 400 | 400 250

000 "dnroup-Kontpons" +375 33 680 71 31 http://www.fcc.by, mail@fcc.by F D



